EARAROBREBRT —5 XN—ZXBISH—F

2024578288 (B) 201528

Edvsx3mt 1BI52

N=FaN
/b

fExE] &

BRI

[AE=%] 17 :8,000,000  ~ 237&:3,200,000 .~ 375:2,000,000H  437%:1,200,000H 53 :800,000

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
F w3 » 44 | RHIBE 1:11.4 6-5 373|939 | 4 444 | BUEFERR (TR
Jwdad 58.0 -) 17 | BEEX
RRZANIF—U7 &:\vE—OVISY L]
TJUAL=ITINA it 3 %EE’%?’%—EB 1(:11.;1 33 3771939 1 | 446 EP’%*_I}HJ ER)
= c NF HE
RUFWAVIT N GLFAFTIUAL @8 | s
. o~ EHE : - =)
FIW—FUTRYF 33 5‘3%; (11.111/.46) 12-11 [36.7 92.0 | 1 (4+53 /ng) %aéf&?
Ry =9I &:7I7TI—NL— [Shirdie]
47|12 ®573%7 ¢ [B] i 3 ggﬁg: 1:11.6 7-7 37.4| 92.1| 8 | 452 3%%@(;%)
c A &
A:No Nay Never £2:Sweet Charity @e) (+16) Lynch Bages Ltd &
5058 Ny "3 :i:g;%zwj (1:”'29) 22 B.41 8.5 2 b é(g)ii?d’(f?‘r W4 VTR
: 11/ TR
RE-ZY GAFU—ALFA— 00 | prermmang
oMl 11 /N1 71+¥— [B] o4 | HEAA A AR Rl A (f?g) DIaL. DRLAK. AT (
RIPIPITRAFUVR BIINA AL XA FERIUZ
717013 SAYUY o4 IS\Q-O?'A—D 1(:12.5) 7-8 37.8| 88.5 | 10 | 4% iﬁzﬁ)ﬁﬁf?ﬂ ‘
: e -
R:Speightstown & YIV KT 2 (+28) RS
81814 ITANS—R 4 3 ?ﬁ!@xﬂ& 1;(12).2 5-5 38.3| 8.8 | 13 | 516 f?kf:}/(%ﬁ)
. ‘] — ~
RIRRT—LYF— B:FIINT—ILR ® | gm wE
9 6| V—=vva1zy 3 BIR 1:(12).3 -1 |38.9(8.2| 6 | 470 giggﬂ(;ﬁ)
—_ —_ . 1 bl
RBYT—Z = BFANATI—IR 18) | v
N - ESDES ZA i 3 %ﬁ%rsaf (1:12.% 9-9 38.3|81.5 | 3 | 470 IEEETE% (ER)
. 2172 IR
RYYI—Z)— BIVIIR— WO S U2 Sesty - or—nEma
1 : B EUb o4 | DR (1:13.(; 13-13 379 79.4 | 14 | 440 E%g =8
. 11/2 7
RU—ISANSIL BiAYTI—L ¢8| ey
1KY 4 | ®FIWAHVY w oy | s 1:(13).5 13-13 |38.3] 753 | 15 | 530 ;@;s;gg €S
o 3] in
RTLIRAT = BY—TRAVILT O a5 7—n
131111 T HF X 4 3 ﬁg%gié (1:13.9) 15-15 [ 38.6| 72.1 | 12 | 482 |/\¥fm3h (5558)
- 21/2 SEF
LRy A—ILIT Bk ID/NLEY— 00 | mins
ulslg | E=2+75 v [B] i 5 Eﬁéudéw 1(:14.)0 10-9  [39.3|72.0 | 5 | 484 fiéi‘%fﬁl 5
. 1/2 —vY
QINZ—E1—X BRIS—ALYE M) 1o5597 20
50l 7 | @Y N PILRIS = gm%gizt 1:(15).0 11-12 | 40.2| 65.0 | 7 | 476 |AFOEAL (%5R)
. 6 _ ]
RE—UR BiFv—LRYI—I R e ST PRN
[ BN
En'y 49.1-38.0
NOVIA L | 11.9-10.4-11.1-12.4-12.3-13.3
@ 11— —BBIEIL
13—7F—
20—F—
Ja=zr= (+6,8)15,11,14,2(12,13)-10,9,7,3(5,H1
40—F— (+6,8) (11,15) (2,14)12,13(9,10)3,7(5,4) 1
0 ILRE
BB 2 690M JA R 2-15 510 AR 2-8 930M 3EE 2-3-15 9,690M
B B 2 210M4 2=3) 2,290M o 18 2-15 1,240 3Es 2-15-3 48,5004
15 170/ 3-15 1,730 oS- 2-15 2,990
3 570

ABIC OV TRUTEREERRODDZE. THRIIZEL.




